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15.

[D]

According to Erikson's Theory of
Psycho-social Development.  which
stage is related to the age of 6 to 12

years ?

(1) Trust versus mistrust .L

(2) Initiative versus guilt

(3) Autonomy versus shame and doubt A
(4) Industry versus inferiority _
‘Army-Alpha Test of fntelligence’ is a
type of :

(1) Verbal Group Test

(2) Non-verbal Group Test

(3) Verbal Individual Test

4) Non-verbal Individual Test

Which of the following  pair

incorrect ??

Basic Instinct Emotion
(H Escape ﬁear
(2) Repulsion Anger
() Curiosity Wonder
(4) Appeal Distress

P.T. Q.
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[25]' (D]
T - IV (PART -~ IV)
TR (MATHEMATICS)
o < TS S & St 33 3 e e} afeer e 9

M_ : Answes the following questions by selecting the most appropriate option.

9l. TR P © 91. The nature of Mathematics is :
(1) SMEHRE | (i) Or;lalnental
(2) HiSH (2) Difficult
(3) fiHe® | | (3) Logical
(4) AR " | (4) Unsystematic
2. T FHIGHS 3 IS a:[aaﬁm H AN 92. If each inte-rior angle of a regular
150° gT, a W % W@;‘ﬁ H GE polygon is 150°, then the\numbef of
3. | sides in that polygon is :
(1) 72 (2) 7 | | (1) 72 @7
% 3) 12, (4) 36 | | (3) 12 (4) 36

\
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95.

(D]

A student scored 65% marks in an

. exam. If he scored 78%. 70%. 62%

and 65% marks in four subjects out

of five -subjects. then what is his

percentage of marks in the fifth

subject ?
(1) 52% (2) 48%
(3) 50% (4) 54%

In an ofﬁce% of total employees are

female and rest are males. If %part

of females and % part of males are

absent, then what part of total

employees are absent ?

17 23
1) — ot
M 30 (2) 30
7 19
3) — L
(3) 30 4) ”
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(4) ST ST&F HT gHa
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(1) 9 @9 oK 7 & &+ -
(2) 6.4% &I

(3) 0.64% @S

(4) 0.64% BT »

103.

[D]

Sum of the HCF and LCM of two
numbers is 504 and LCM is 55 times
of HCF. If one number is 99. then

~ the second number is :

(1) 45

(2) 81

(3) 56

(4) can not be determined

Ramesh sold two motorcycles for Rs.
54,500 each. He earns profit of 8% on
one motorcycle and suffers a loss of
8% on another motorcycle, then his
net loss or profit in this deal is :

(1) Neither profit nor loss

(2) 6.4% loss

(3) 0.64% profit

(4) 0.64% loss
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(1) 360
(2) 420

(3) 900

(4) 600

frfifea Slist § & S99 3w 6
HAY T & & !

(1) (7,49)

(2) (17, 25)

(3) (8,52)

(4) (13,91)

[35]

11.

——

[D]

A bag contains coins of Rs. 2, Re. 1
and 50 paisa in the ratio 6 : 7 : 15
respectively. If the total amount in
the bag is Rs. 1590, then the number

of 1 Re. coins in the bag is :

(1) 360
(2) 420
(3) 900
(4) 600

Which of the following is a pair of

coprime numbers ?°
(1) (7, 49)
) (17, 25)
(3) (8, 52)

(4) (13,91)

o L o, sana e W AL YRR TR SN SN N WS R R O O TR S e e
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[37] [D]
ué. = 'ENGINEER' & T J Ry 116. How many words can be formed
I TE N TRy ¥ 7 from the letters of the word
' '9
(1) 3360 ENGINEER' ?
. (1) 3360
(2) 40320
(2) 40320
3) 20160
(3) 20160
(4) 6720 @ 6720
L AR yalo4 @ okt ! ' lue of
111, X ) X' +— % AN 7. If x+—=4, then the value of
x X X
%Z 4 1.
X' +— is
2
(1) 194
(1) 194
(2) 174 2) 174
(3) 144 (3) 144
4) 154 (4) 154
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N

Sea water can be purified by :

(D Filtration&

(2) Reverse 0smosis
(3) U'V radiationy
(4) Osmosis

The micro-organisms which convert

the dead plants and animals to humus

are known as :

(1) Deforestation
(2) Crown
3) Canop.y
(4) Decomposers

Which one is odd one out from the

following ?

(1) Coal

(2) Petroleum
(3) Natural gas
(4) Wind energy
What is Air ?

(,l) A substance
(2) A compound
(3) An element

(4) A mixture



Join Telegram Group "HaryanadJobs.in"



Join Telegram Group "HaryanadJobs.in"

ot
|

l.

(D] [42]
133, e o e ® ' 133. Vermi compost is obtained from :
(1) M A q (1) Round worms
(2) FYL 9 (2) Earthworms
(3) o | (3) Amoeba
(4) <oHIEIH & (4) Plasmodium
134. i & @9-8 et & frfled 134, Which of the following animal has.
NS g7 the following adaptations ?

() & g A afk (o af)
e St &

(i) 3F® TEX g8 g @« oK U e
2l

(iii) §9% X T @t H & AT W/

B

(iv) 50 @ B W 99T H Th O
Bl B

(1) ¥

(2) Q& A »
(3) T
(4) T

@ AR dtw Y 75wl
aRq @ e qen § S R
e & o & REeT ¥ 39 I
esramzm?%?

(1)%31@?5’@1‘
(2) AT HAB
(3) AT Shepfer
(4) A 37 A

,evel-1/101

(i) It has a very strong sense€ of

“smell.

(i) It has long curved and sharp

claws.

(iii) It has two thick layers of fur.

(iv) It has a layer of fat under its
skin.

(1) Penguin

(2) Polar bear

(3) New‘World Monkey
(4) Toucan Bird

An American scientist, showed tha
lightning and the spark from clothes
are essentially the same phenomenon.
What is the name of the scientist ?

(1) Benjamin Hobart
(2) Benjamin Keough
(3) Benjamin Franklin

(4) Benjamin Van 1eer
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